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H X A VA = A # AR il 2 K

Hh X £ 2 = i HH ] X it HH 5 = it HH
il A 13,983 14,543 28,526 12,900 581 674 1,255 842 14,564 15,217 29,781 13,512
= =} 1,421 1,490 2,911 1,150 5 17 22 15 1,426 1,507 2,933 1,154
= = 3,127 3,316 6,443 2,661 57 79 136 102 3,184 3,395 6,579 2,730
F B 1,016 999 2,015 802 5 14 19 15 1,021 1,013 2,034 809
B & & 2,623 2,586 5,209 2,043 55 63 118 86 2,678 2,649 5,327 2,108
m H b 3,030 3,063 6,093 2,736 60 89 149 114 3,090 3,152 6,242 2,799
B & b 2,779 2,808 5,587 2,273 45 77 122 110 2,824 2,885 5,709 2,359
= = BT 2,453 2,605 5,058 2,204 15 28 43 36 2,468 2,633 5,101 2214
£ #A 727 824 1,551 746 1 4 5 4 728 828 1,556 747
= it 31,159 32,234 63,393 27,515 824/ 1,045 1869 1,324 31,983 33,279 65,262 28,432
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h A O ih A O i A O i A 0
R g | B % B g (B ger | 8 | = | i | t#% B R | 8 | & [ & g B ] S |
il X 862 893 1, 755 841 EEFHILEX 159 166 325 138 HERX 292 302 594 247 N — X 197 225 422 166
W F X | 1,266 1,320 2,586 1,222 | it X 149 151 300 108 t #H X 338 311 649 281 INHZX 178 175 353 141
kR T X 231 256 487 265| = BHEK 114 137 251 106 R EBRX 272 288 560 215 L] INH=X 283 297 580 230
= H X | 1,630 1,745 3,375| 1,443 BHIAK 343 363 706 268 AERRX 74 71 145 66 IPHERX 659 670| 1,329 632
7 ET X | 1,693 1,814 3,507 1,671 b2 ih X 475 493 968 379 = B B X 340 352 692 261 = RE X 448 430 878 366
IR X 227 231 458 214| 2 | B X 186 197 383 155 TEREX 399 413 812 284 E N 386 403 789 288
== 20 22 42 17 HERX 250 245 495 191 EH 2 X 350 328 678 256
F R X 56 58 114 47 e X 5t | 1,426| 1,507| 2,933| 1,154 i REHEHX 395 358 753 305 pliy KX 239 245 484 214
U X 76 85 161 66 FIREX 136 128 264 109 BERX 85 82 167 64 T #H X 84 112 196 66
FIHTER 157 134 291 120 TREX 119 138 257 113 B B X 233 227 460 194
g X | 1,034 1,109 2,143 1,018 mE X 182 196 378 138 X 5t | 2,824 2,885 5,709| 2,359
# B8 &2 X | 1,129 1,173 2,302 1,000 % FXRERX 229 254 483 190 X 5t | 2,678 2,649 5,327| 2,108 5 = 851 875 1,726 738
B X 1,121 1,129 2,250 926 XILERK 387 489 876 437 - £ B 328 344 672 293
mEeE X 846 904 1, 750 856 FERX 311 301 612 244 REHFHEK 274 273 547 2047 = % 125 118 243 120
EHHRKX 514 506 1,020 545 B X 179 170 349 123 & 1y i =3 130 145 275 121 % R 321 332 653 328
T#HHRK 129 153 282 133 TERX 301 329 630 256 ORI =3 424 395 819 348 = ] 843 964| 1,807 735
F #® X 837 878 1,715 735 FIFERX 616 674| 1,290 498 =l 136 135 271 99
B BFERX 204 193 397 173 & THFEX 455 456 911 A2\ | &/ K 313 342 655 270 X 5t | 2,468 2,633 5,101 2,214
EE K 543 564 1,107 483|7  HEBE X 191 173 364 133 & X 168 182 350 139 JE W 79 93 172 74
ERF X 478 478 956 424 A X 78 87 165 68 5 #h X 119 142 261 120 E ¥ 263 333 596 309
AR X 417 415 832 329 i K& X | 1,468 1,485| 2,953 1,445 #& 0 181 201 382 152
2 E X 199 255 454 229 H X £t | 3,184| 3,395| 6,579 2, 730 " Er R 58 53 111 BIE 2K 66 67 133 59
ZE R 4t BT 38 38 76 31 === 33 36 69 40
I = 65 66 131 58 (= 285 259 544 218 H X &t | 3,090 3,152 6,242| 2,799 N H B #§ 72 65 137 67
FoERRX 792 798 1,590 666 F }FORX 374 369 743 297 = ¥ B 217 32 59 39
TFREX 215 242 457 177 SH 7 1 8 7
Hh X Et | 14,564|15,217] 29, 781|13,512 B J\F X 147 143 290 117
X 5t 728 828| 1,556 147
X 5+ 1,021 1,013] 2,034 809 FEIRFAsEt |31, 983|133, 279| 65, 262 28, 432




